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FRAHT 88 99 102 201 | Fin AT 250 207 191 398 [#KHT— T H 367 296 224 520 | AT 279 296 323 619
FRYZHT 195 173 190 363 IHHP 12,471 11,359| 12,183 23,542|%0T =T H 176 158 116 274 g RIHIT 730 857 925 1,782
JERT 436 373 442 815 RIT =T H 122 133 143 276|  KFEAHIX 3,821 4,268 4,438 8,706
BT 751 740 752| 1, 492|fEENT 241 239 250 489 [T U T H 62 37 42 79
& BHT 394 386 404 790 | AT 3,916| 3,838 3,911 7,749 NHRHEX 10,303 9,909 9,877| 19, 786|F[AHLHT 394 475 462 937
i T 245 213 208 421 |Fafmy 185 183 214 397 ARERET 274 345 370 715
o) HT 124 109 119 228 | AT 455 434 430 864 | BT ERHT 1,277 1,471 1,446 2,917 3 LET—TH 477 465 491 956
KA 609 526 525 1, 051 |{TAHT 3,801 3,811 3,954 7, 765 | Hr 4 H H T 363 389 419 8084 ILIMT — T H 230 220 250 470
BT 13 8 10 18| HLRHT 3,738/ 3,714 3,798  7,512|HBHT 1,742) 1,665 1,833 3, 498[#R/INEHET 591 626 636 1,262
AT 102 83 101 184|:& Y 615 594 606 1,200|H @M 1,183 1,353  1,276]  2,629| (L4 HT 1,659 1,890 2,027 3,917
T 220 211 219 430 e LMY 1,400 1,471 1,569 3,040| iR HX 4,565 4,878 4,974 9,852| FE/\iEHIX 3,625 4,021 4,236 8,257
Acimmy 115 73 88 161 | K Afmy 151 143 159 302
JUTHEHT 180 190 219 409| H BT 339 398 436 834 | H-Ep T 3,052| 2,912 3,182  6,094| 5 shHT 447 450 492 942
T 133 104 90 L94| B ERIT—T H 371 374 392 766| K J\UAHT 1,288 1,288  1,232] 2,520 |ZEigHT 308 331 340 671
TAERT 67 61 58 19| ERET =T H 527 514 474 988 |/IN\AHT 1,336 1,419 1,453 2, 872|H#rHET 714 736 748 1,484
FEIEET— T H 147 146 140 286 | HHERIT =T H 528 533 551 1, 084 IEMBLSFMT 489 557 571 1, 128| HH HLAT 245 303 304 607
TREHET =T H 116 127 122 249 [ EIRATIY T H 330 334 412 746 [ EETE— T H 55 43 32 75| T 1,2100 1,317 1,379 2,696
FRIEET=TH 127 116 110 226| R HIX 16,597 16,580| 17,156 33, 736|MEM 7 T H 125 104 100 204 | ErmT 779 909 918 1,827
TRIEHETI T H 141 141 152 293 [ I —T H 337 225 304 529 X 3,703| 4,046 4,181 8,227
TRIEET T H 60 47 13 60 | 5T 3,851 3,823 3,974 7,797|MREIT T H 30 25 28 53
Ry 431 400 441 841 [l — T H 280 318 348 666|ME=IT="TH 50 20 41 61| Bry 5,861 6,111 6,264 12,375
P GRIT 23 20 17 ST BT T H 577 567 629 1, 196|M=ATL T H 130 128 107 235 | ' JELHT 199 238 265 503
ELHT 175 163 188 35L[FEBT="TH 897 851 924 1, 775|IEFHT 1,980 1,991 2,115 4,106 AEEFHX 6,060 6,349 6,529 12,878
et EaT 26 17 23 40| S5 AT 1, 562 1,518 1,633 3,151 Il 8, 872 8,712 9,165 17,877
BT T 188 148 174 322 FepHHT 1,446 1,369 1,476] 2,845 RIRHT 402 399 442 841
EN/NU) 508 468 519 987 B2 A T 184 167 191 358 | @MY 469 398 553 951 [ 5L H MY 557 623 633 1,256
R T 24 16 20 36 [\ TARIT— T H 496 487 460 947 | Al I T 2,385 2,297 2,303 4,600|kEHHT 665 766 730 1,496
& 62 51 56 07|\ F{RBT =T H 370 338 387 725 TR BT 244 291 306 597 |74 5T 166 164 153 317
HEARHT 38 38 43 SLNTFARMT=TH 507 508 521 1, 029 | &k e T 975 929 938 1, 867|#KIFHT 656 731 763 1,494
FHHT 371 285 338 623\ TFARATIU T H 402 410 463 873 | RN 556 622 639 1,261|%&EHT 380 389 376 765
= 154 142 159 301[ Al X 10,572/ 10,356 11,006| 21, 362|HTE=H] 381 388 429 817|744 T 573 653 676 1,329
ST 630 554 615 1,169 N L 2,469 2,671 2,755 5,426 T BHIX 3,399 3,725 3,773 7,498
R AART 26 31 24 55| E4& By 2,548 2,533 2,677 5,210|47HHET 168 203 207 410
Eo L 487 465 509 974 | BFFERT 44 40 47 87|\ HIX 7,647 7,799 8,130 15,929| L-jmT 287 357 373 730
HEHT 22 29 24 53| bR T 3,816/ 3,759 3,763 17,522 TE A TFHT 172 206 217 423
15 BT 199 167 171 338 [ L A HERT 354 337 404 741 | L [my 1,302 1,363 1,363 2,726| 7 HET 178 226 219 445
JEHT 156 153 143 296 | 5T 777 746 769 1,515| FEHEHET 1,903 1,983 2,078  4,061| FiEHT 438 485 515 1,000
AT 391 346 390 736 | A EpIT 1,528 1,846 1,821 3,667 &y 851 844 946 1,790 BHT 343 431 426 857
R T 16 14 18 32| Tz 3my 1,808/ 1,963 1,968 3, 931[dLAfRET 476 426 508 934 | PG RETHT 424 498 463 961
A AERT 1,572 1,543 1,644 3, 187| T HJET 1, 155 1,205 1,238 2,443| EfHX 4,532 4,616 4,895 9, 511|J\&JEmT 404 454 498 952
% FH T 162 151 156 307 B PIT 402 427 436 863 )| 11X 2,246 2,657 2,711 5,368
ey 139 120 151 271 JEAT—TH 596 594 608 1, 202 |y 518 566 585 1, 151
M 166 137 156 293( P EIT T H 1,322 1,146 1,354 2,500 |45 HuHT 478 566 578 1, L44| BT = & 435 457 439 896
=S 198 174 213 387|HEAT =T H 618 635 669 1, 304 |t T 180 203 216 419| B DMy HE H 380 395 380 775
ARHT 155 113 149 262 EETIY T H 694 646 709 1, 355|1T/JHT 145 162 185 347 | B PART AR 185 185 182 367
JEATEMT 107 77 54 131 | AEEmT 1,024 1,017 1,042 2, 059 i) 111T 1,234 1,334 1,407 2, T4L[ BRI EK 111 119 127 246
I\ T 347 355 402 757 |1 H Z T 643 612 536 1, 148|FIHTHHT 389 433 488 921 | A PAImT) 1176 302 290 317 607
Ly 221 176 207 383| Al HX 17,329 17,506 18,041| 35, 547| %[0T 438 490 480 970(  ADHHLX 1,413 1,446 1,445 2,891
L1 FH T 102 87 92 179 Py 278 342 340 682
L] 91 73 85 158 L/ sy 800 831 905 1,736| REFHIX 3,660 4,096 4,279 8, 375|FEHRMTVEIA R 719 780 842 1,622
PU 7 T 31 31 30 61| b/Nmy 482 554 589 1,143 FEYBHT 4 B 89 95 104 199
FHEWT 35 30 32 62| LAt AE T 2,992 2, 860 2, 695 5, 555 L KT 1,317 1,363 1,393 2, 756|EAATIAZ IR 256 161 152 313
FEELHT 93 83 73 156| /) J5HT 2,319] 2,190 2,195 4, 385|fE KAEMT 310 368 356 724 |FEGRHT I 1,079 1,249 1,257 2,506
puikiaig 287 287 316 603 | T /NIy 1,538 1,504 1,526 3,030 |SRIGFET 726 882 911 1, 793 | FEHRIT B R 444 482 504 986
FERAHT 325 282 296 578 | HLARAT 1,445 1,346 1,442 2, 788| FAJHEHT 459 502 530 1, 032| G FZ 1,510/ 1,658/ 1,696 3,354
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FEYRHT T 849 905 983 1, 888 HHMT/ Ml 149 181 186 367
FEGIT 5 ] 347 416 423 839 | &M AL 257 279 278 557
FEYBHT 208 224 204 428| EFHMT AR 529 637 624/ 1,261
ST (L 163 184 201 385 | HATH ] 312 337 351 688
FEYBHT )1 424 448 477 925 | HHT itk 630 722 708/ 1,430
JEYmY rp R 5 4 4 8| & H-MT K 439 519 519/ 1,038
FEYBHTFI AR 1,058 1,321 1,307 2, 628| & HMTLH 97 114 112 226
SERMT A 5 1,946 2,064 2,221 4,285 & H0TE 30 38 36 74
FEHRHh X 9,097 9,991 10,375 20, 366 | TR 302 351 356 707
EHITH 223 163 216 379
FoaL 3,913 4,464 4,640 9,104 | T A 36 38 40 78
J2qmy 1,743 1,940/ 2,012 3, 952 FH AT AR 10 10 12 22
Gl 613 786 825 1,611 | EHNTZ L R 375 443 423 866
By 200 230 240 470 F FEITERIR 52 64 59 123
Finr 0 HT 325 345 344 689 | T HHT £ 4 153 167 169 336
# KT 154 176 182 358 |5 HHHT B 158 184 190 374
B [RIHT 70 86 94 180 | FHMT /)N e 368 431 419 850
S 5y Iy 312 448 429 877| & SMT AR 17 148 135 283
VG E Sy HT 251 315 312 627 | & FEITE I 191 211 202 413
Aesimy 457 462 440 902 | & My NEE 221 255 253 508
T T 3,658 4,103 4,183 8, 286| fHHTEEEE 583 671 649 1,320
EAMT 1,834 2,132 2,229  4,361|&HIHMTEESE T H 344 370 350 720
= SRHT 874 1,022 1,072 2,094 | & HNTREEES T H 405 401 464 865
rf R IRT 1,593 1,663 1,675  3,338|#HIEATEEREA =T H 306 396 385 781
e T 1,443 1,474 1,564| 3, 038| 7 R IE 364 367 402 769
o1 BT 501 593 624 1, 217|EHENT R B 104 120 119 239
PRI T 651 792 790 1, 582 | HHHT [ B3 123 156 133 289
JEHmy 589 649 705 1, 354| &M H 1 53 59 65 124
TR ES Mt [X. 19,181 21,680 22,360 44,040| & HHlX 10,279 11,376 11,529 22,905
iy 5,700| 5,653 6,026 11,679
T H X 5,700| 5,653 6,026 11,679
FEE HAET 1,067 1,148 1,179 2,327
rhEE T 838 708 817 1,525
s mny 463 494 481 975
e LT 37 26 38 64
B4y 33 25 33 58
R EHT 408 532 532 1,064
T HLRET 1,034 1,104 1, 180 2,284
o BT 762 848 874 1,722
RHL BT 999 1,069 1,101 2,170
ARYBHT 909 1,043 1,043 2,086
e mT 717 785 806/ 1,591
SEST 179 216 177 393
+-3eEemy 177 185 203 388
ERET 325 369 355 724
= R 101 101 99 200
AT 120 127 129 256
A X 8,169| 8,780 9,047 17,827
FHEATE IR 672 694 710 1,404
EFHMTE H 1,226 1,246 1,295 2,541
FHHATFRAR 351 361 369 730
E T RAR 1,099 1,243] 1,300/ 2,543 WA F 173,241 179,803 186, 356 366, 159




